Math 80 Spring 2019 Test 6 Practice Test Name:

Please silence your cell phone.

You must show your steps. If you're unsure whether you have enough work, please ask.

Helpful information

= — 2 _b+vb2 -
X Given ax“ +bx+c =0 then x bxvb< —4ac
coor 23

Standard form y =ax2 + bx+c Vertex form y=alx- h? + k

Ioga N=M



1. Using a two-column table solve 2/x+4 -17=3. (5 pts) @MM
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2. Solve Vx+4 +x=8. (Since you have unlike terms you can’t use a two-column table.)
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Rewrite with rational exponents, reduce and if possible simplify. When possible, write final
answers as roots. (3 pts each.)
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Simplify. Write your final answer as a root and rationalize any denominators.
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5. Solve x %‘ =3 (3 pts) LX"_\Q> -
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6. Using a two-column table solve (3k —2)° —42 = -10. (6 pts)
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7. Simplify and then check by writing into exponential form. (3 pts each.)
a) log- 7 b) log., 8 ¢) log, (41_9} d) log,
O
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8. Simplify using a calculator. If necessary round to the hundredths place. (1 pt each.)

a) 3_1'5

O. 19

b) &2

139

c) 1031 -0.4

125%.93

d) e

e/

9. Use the change of base formula to find Iog1 4 7. Show your work. (3 pts)

Il 2

10 =0, 737

10. If I wanted $5,000 to become $10,000 in 5 years use r =

would need. (6 pts)

to find the interest rate |

The known values are

A: [O‘OOO
P-:_EI OO0

t=5

Answer the question. (Use the proper label.)

r>gQWQ‘§;ﬁ)
= O.)\3%e3
12, ¥6 Yo

11,
years if the account earned 6.25%. (6 pts

Use A=Pe't to find how much an account that started with $175,000 would be worth after 30

The known values are

P=|75000

—

Answer the question. (Use the proper 1abel )

A =1T15.000 !
/A:
S)41143.35

|19 1\ 13,35
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12. Use t = In(%)r“1 to find how long it will take to double $100,000 at 6%? (6 pts)

The known values are

/ﬂ[—; 7.00, OO0
= (0o, 000
M= ©. 06

Answer the question. (Use the proper label.)

b=, 528200k
A58
t= //'\S'ﬁ—?/ga/zi.

13. Use P = Ae"! to find how much | need to invest today at 4% to have 75,000 in 12 years?

(6 pts)
The known values are Answer the question. (Use the proper label.)
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14 Using a two-column table solve £

X

i =5. (7 pts)
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Check your exact answer.
Show your steps
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15. Using a two-column table solve 6eft1-1=2. (8 pts)

Oper | Inv
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| = Check your exact answer.
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